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QUESTION 1

A customer is implementing the two-tier employment model. At what level are payroll run results captured in cloud
payroll? 

A. Payroll Relationship only 

B. Work Relationship and Assignment 

C. Assignment only 

D. Payroll Relationship and Assignment 

Correct Answer: C 

 

QUESTION 2

When a customer runs a payroll, it creates payroll run actions for all workers included in the process. On which
employment record are the process actions created? 

A. Payroll Relationship only 

B. Assignment, Work Relationship 

C. Assignment only 

D. Assignment, Payroll Relationship 

Correct Answer: A 

 

QUESTION 3

You are creating a custom balance that needs to include run results of all elements associated with the regular earnings
and supplemental earnings classifications. How should you define the balance feeds to meet this requirement? 

A. Create balance feeds for each element belonging to regular earnings and supplemental earnings classifications. 

B. This requirement cannot be met because a balance cannot be fed by elements from more than one element
classification. 

C. Create a balance feed for the regular earnings classification and a balance feed for the supplemental earnings
classification. 

D. Create balance feeds for each element belonging to regular earnings and supplemental earnings classifications but
ensure the number of feeds does not exceed 250. 

Correct Answer: C 

 

QUESTION 4
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You are creating a car allowance element. The rules for this allowance need to reference the salary balance. How can
you meet this requirement? 

A. Associate the salary balance to a calculation card and reference the calculation card in the allowance element
formula. 

B. Enter the salary balance value as an input value on the car allowance element. 

C. Create a balance feed to feed the salary balance to the car allowance element. 

D. Reference the database item and appropriate dimension for the salary balance in the allowance element formula. 

Correct Answer: D 

 

QUESTION 5

A person has one Payroll Relationship and two assignments. Each assignment has two different departments. Each
department is associated with a different cost center. You would like to transfer all the costs of this period to one cost
center only. 

Which two options achieve this requirement? 

A. Define payroll costing with the cost center required. 

B. Define element entry level costing for all elements for this person with the required cost center. 

C. You cannot achieve this because the cost center is automatically picked up from the manage department costing. 

D. Define the Person ?Payroll Relationship level costing with the required cost center so that all costs are changed to
the same cost center. 

Correct Answer: B 
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